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IESR AT 2%m% CRRithRK) MERER (22T R) 3#ERHE
% # s - BRHE By B i & & 1

BRI 5,293,000 + 142,773 5,435,773
EEAGE 5,293, 000
EERE 142,773
Z DR 5,293,000 x 53.85% ( 35% + (1 — 35% ) ) 2,850, 280
SRR 5,435,773 + 2,850, 280 8, 286, 053
—REEEE 8,286,053 x 53.85% ( 35% =~ (1 — 35%) ) — 8,092 4,453,947
EMmiE 8,286,053 + 4,453 947 12, 740, 000
B FEZET 12,740,000 x 10.00% 1,274, 000
EBERREM 12,740,000 + 1,274,000 14,014, 000




BERRE ML RS EAE CBRE) MEMER (22T X) #HEREH%

) R Big - MAKTHE Bl % 8 B & i) Hm =
BRI 5,435,773
BaE3] 5,435,773
FElERE 5,435,773
FEmEREt 5,293, 000
REtETE 361, 200
REtETE 1.00 207, 200 207, 200
=
2 BMEAE 1.00 154, 000 154, 000
=
SRR ET 1,129, 650
3 HREEHOHRTE 1.00 426, 250 426, 250
=
4 BEREHE 1.00 365, 500 365, 500
=
5 1EKxtERDRET 1.00 337,900 337, 900
=
MEIEtE 1,270, 300
6 fETEtEDRET 1.00 337,900 337, 900
=
T ERfRMA - B ORE 1.00 337,900 337, 900
=
8 I ITFEDRE 1.00 337,900 337, 900
=
I MEITEEDERE 1.00 256, 600 256, 600
=
HRERL 1,564, 800
10 BEHE 1.00 363, 500 363, 500
=




BERRE ML RS EAE CBRE) MEMER (22T X) #HEREH%

11 HEER 1.00 926, 000 926, 000
=

12 BEREE L DIFBERERE 1.00 275, 300 275, 300
=

i - |E 325, 400

13 188 - |E 4.00 81,350 325, 400
]

BE 190, 300

14 BE 1.00 190, 300 190, 300
=

REY 451, 350

15 EHTERREER 1.00 451, 350 451, 350
=

EERE 142, 773

EBRARE 41,713

16 EHRARE 1.00 47,713 47,713
=

R 95, 000

17 £BHER 1.00 95, 000 95, 000
=




RER-FET/\vr— NI T E8EE GERR) MERER (22T R) #MRsts
&5 1
£ BEHE i
2 7 1B - R By B 1 i w =
TR (BED
A 2.00 62, 200. 00 124, 400
BER (A)
A 1.50 55, 200. 00 82, 800
& it YEZERED 1. 00K 207, 200. 00 207, 200
=:2
L% BiEE EE L)
2 7 R - Ak B B 1 i w =
BEF (A)
A 1.00 55, 200. 00 55, 200
H®EF (C)
A 1.00 35, 600. 00 35, 600
Biia
A 2.00 31, 600. 00 63, 200
=) 5 YEZEREN  1.00=K 154, 000. 00 154, 000
E=S:3
B BEEHOBRTE EE)
2 # 1B - R Bif B i %8 B =
FEFE (%D
A 1.00 62, 200. 00 62, 200
B (A)
A 1.50 55, 200. 00 82, 800
BEF (B)
A 2.50 45, 300. 00 113, 250
®EF (C)
A 2.50 35, 600. 00 89, 000
)
A 2.50 31, 600. 00 79, 000
= H YEZEREN - 1. 00K 426, 250. 00 426, 250




RER-FET/\vr— NI T E8EE GERR) MERER (22T R) #MRsts
&S .4
&%  BREHE EE)
2 7 1B - R By B 1 i % =
X A (%3
A 1.50 62, 200. 00 93, 300
BE (A)
A 2.00 55, 200. 00 110, 400
BET (B)
A 2.00 45, 300. 00 90, 600
H®ET (C)
A 2.00 35, 600. 00 71, 200
& it YEZERED 1. 00K 365, 500. 00 365, 500
EES:5
2% : Lk EOBRE EE L)
2 7 1B - IR B B 1 i w =
F AR (BED
A 1.50 62, 200. 00 93, 300
e (A)
A 1.50 55, 200. 00 82, 800
e (B)
A 2.00 45, 300. 00 90, 600
HEm (C)
A 2.00 35, 600. 00 71, 200
=) 5 YEZEREN  1.00=K 337, 900. 00 337,900
E=S:6
L%  WIHEORE EE)
2 7 B - R Bif B i 38 B =
FEFE (%D
A 1.50 62, 200. 00 93, 300
RET (A)
A 1.50 55, 200. 00 82, 800
®Em (B)
A 2.00 45, 300. 00 90, 600
®EF (C)
A 2.00 35, 600. 00 71, 200
= it YEZEREN - 1. 00K 337, 900. 00 337, 900




RER-FET/\vr— NI T E8EE GERR) MERER (22T R) #MRsts

&5 1
¥ FERAMM - B oBREt IEED
£ b3 B - BIKTE =-Fiv] = B i ® 5 W E w =
F{EHRAm GRED
A 1.50 62, 200. 00 93, 300
HEm (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 2.00 45, 300. 00 90, 600
HEh (C)
A 2.00 35, 600. 00 71, 200
& Hi 1EZRERN  1.00K 337, 900. 00 337, 900
%58
&% BIITREO®KE IEED
% b R - KT BT B = B O{f * % W E H %
FEHAR (F%E)
A 1.50 62, 200. 00 93, 300
HER (A)
A 1.50 55, 200. 00 82, 800
HER (B)
A 2.00 45, 300. 00 90, 600
HER (C)
A 2.00 35, 600. 00 71, 200
& B 1E%8ERH : 1.00=C 337, 900. 00 337, 900
59
&%  BEIFEEDET 14y
% L] g - BIRTiE ==Rivi #H = B @ & E W E i =
HER (B)
A 2.00 45, 300. 00 90, 600
HER (C)
A 2.00 35, 600. 00 71, 200
Hit &
A 3.00 31, 600. 00 94, 800
= B YE¥REH 1,00 256, 600. 00 256, 600




1’tﬁfﬂ§§ FEI \whr—o MILTEEER (BEX) RERER (F22TX) Mt SE
=:10
2% BEHE IEEP
£ [ R - KT B B =2 i € ® # &
ER (B)
A 1.00 45, 300. 00 45, 300
HER (C)
A 4.50 35, 600. 00 160, 200
i &
A 5.00 31, 600. 00 158, 000
& B 1EZ%EBER - 1.00K 363, 500. 00 363, 500
=11
& REERK 1XHY
4 b R - KT By B = Ll & ) H %
HER (A)
A 1.50 55, 200. 00 82, 800
HER (B)
A 4.00 45, 300. 00 181, 200
HER (C)
A 71.50 35, 600. 00 267, 000
Hift &
A 12.50 31, 600. 00 395, 000
& g EBER - 1. 00K 926, 000. 00 926, 000
55 :12
¥ : B L DB ERERE 1By
£ L R - KT B B E il € ¥ B %
FEHAR (F%E)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.50 55, 200. 00 82, 800
HER (B)
A 1.00 45, 300. 00 45, 300
HER (C)
A 1.50 35, 600. 00 53, 400
Biffg
A 1.00 31, 600. 00 31, 600
& it 1EZEERN : 1.00K 275, 300. 00 275, 300




RER-FET/\vr— NI T E8EE GERR) MERER (22T R) #MRsts
E#5 .13
2% his - RE 1[E 4 Y
2 7 1B - R By B B ff i % =
X A (%3
A 0.50 62, 200. 00 31,100
BE (A)
A 0.50 55, 200. 00 217, 600
BET (B)
A 0.50 45, 300. 00 22, 650
& it YEZERES ;- 1.00[E 81, 350. 00 81, 350
&S 14
2% - BE EEL)
2 7 1B - IR B B B i % =
F AR (BED
A 1.00 62, 200. 00 62, 200
e (A)
A 1.50 55, 200. 00 82, 800
e (B)
A 1.00 45, 300. 00 45, 300
=) it YEZEREN  1.00=K 190, 300. 00 190, 300
H5:15
2 EBRERREERK EE)
2 7 B - R Bif B B @ 38 B =
FEFE (%D
A 1.50 62, 200. 00 93, 300
RET (A)
A 2.50 55, 200. 00 138, 000
®Em (B)
A 2.50 45, 300. 00 113, 250
HEm (C)
A 3.00 35, 600. 00 106, 800
= it YEZEREN - 1. 00K 451, 350. 00 451, 350




RER-FET/\vr— NI T E8EE GERR) MERER (22T R) #MRsts
E5 .16
2% BHERARE EE)
2 7 1B - R By B 1 ¢ H w = w =
EBRRE
= 1.00 47,773.00 47,773
& it YEZERED 1. 00K 47,773.00 47,773
&S 17
2 EBERER EEL)
2 7 1B - IR B B 1 & =@ i % =
EBHERE
= 1.00 95, 000. 00 95, 000
& & fEZEeH ; 1.00=%

95, 000. 00 95, 000




